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ELECTIVE GROUP EF-TAX PLA G AND
MANAGEMENT 'Q

Paper XXIX : Corporaﬁe % anning
Time : 3 Hours ch\’laximum Marks : 75

(Write your Roll No. on the fop immg/l&) » on receipt oj this question paper.)
Note: (i) The m ;@? mirks printed “on the
queslid&aper are applicable for the
candi&e% registered with the School of
Op earning. These marks will,
hewever, be scaled ~ down
portionately in respect of the students
of regular colleges, at the time of posting
of awards for compilation of tesult.

(i) Answers may be written either in
English or in Hindi; but the samc
medium should be used throughout the
paper.
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Attempt all quest'@?s.
All questions carry @él marks.
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N
I. (a) Whatis Tak<Planning ? How does it differ
from tax qﬁ{{agcment ? 5

(b) Mr. Ai% engaged in business of civil
consmﬁion. His gross receipts from such
business is ¥ 45 lakh during the previous
year 2010-11. He wants to pay tax on his
income assuming the income @ 8% of
gross receipts u/s 44 AD. Further against
such income he wants to claim depreciation
@ 15% on Plant and Machinery W.D.V.
T 15 lakh on 1-4-2010 which he used for
the aforesaid business. Find out his income
assessable under the head “Profits and
Gains of Business or Profession and
W.D.V. of Plant & Machinery on 1-4-2011. 5
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(c) From the following determine the amount
deductible v/s 10 A and assessable income
for assessment year 2010-11 and
assessment year 2011-12 -

Previous Previous

year year
2009-10 2010-11
L4 T
Export turnover 12,00,000  18,00,000
Total turnover 20,00,0@ 30,00,000
Profit/Loss (-) 2,0%@/%0 (+) 3,00,000

A

(%) W AEEH 7 e SO HTIEY F 9 Tew
TR R Q‘?

@) ﬁmAfuﬁa%@%wﬁmgmﬁn
18 omaE FFH vHer wiew fed o
2010-11 345 @@ of | &% 4R 44 AD &
MR O g MR 8% ) 7 & e
9 & 3T W T AT AR L W
UHft AT W FE 15% W T/ WA 3 el
W B8 F W B G ¥ R
WDV 1-4-2010 &t T 15 @ ¥ fos 3@
ST ST 3 ferd Wb ferm en 1142011
AT AT M F A ot e @
a7 H4d W@ HYRA B WDV, W 35 Pl
3G A HI |

9610 3 P.T.0.



2610

www.FirstRanker.com

(ﬂ)ﬁmﬁaf@ﬁmﬁumm;\%m

(a)

(b)

sawAAE e e Fraftor 39 2010-11 @
fruizor a9 2011-12 % fu P ama fruife
T
foday  fodad
2009-10 "% 2010-11 &

4 4
et amed 12,00,000  18,00,000
Fed AEd 20,00,000  30,00,000
TANI/ATA (-) 2,06% (+)3,00,000

OR/atear ’&'

Distinguish betwe@v an Indian Company
and a Foreign C ny.

From the fol!gﬁ‘ing information compute

the tax le by A Lid. for the
asscssme%y ar 201 1-12 :

1. Businéss income from sale

nff%uritics ~ 17.,00,000
2. l.ong term capital gains - 8,060,000

3. Business income from cold
chain facility for agriculture
produce (commenced In -
2003-3004) - 20,00,000

b, Security transaction tax paid
(not deducted from business
income) ~ 3,60,000
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(c)

()
@)

[Q)

‘A’, a member of the West Indian Cricket
team. received a sum of ¥ 10 lakh for
participation in matches in India. He also
reccived a sum of T 2 lakh in India for
endorsing a product on T. V He contributed
articles in an Indian newspaper for which
he received ¥ 20,000. During the tour of
India he won a prize of T 10,000 in horse
race. What will be his tax lability for the
Assessment Year 2011-12 7

AR ot 3T T vlt st o ofav SarT |
Frefefaa e & smm fetee &
Brafro = 2011-12 % Biw 2960 = afvsfeg
o >
1. qﬁvﬁﬁuﬁaﬁ%ﬁ@&

aEias A - 17,00,000
2 a’\maﬁngﬁnaq@' - 8,00,000
3 PSR g U :

mumw@ﬁmm

(2003-2004, .~ 20,00,000
4;riaagﬁ a:faﬁ{mﬁm

(am'q% T A FY .

Tt Fopar ) - 3.00,000
‘A’ w A e A TR e Anwm e B
g 0 &4 d 5 ot F o 710 o e
T ) 3U Al W RS A U 3o awed
FH & AU T 2 o WG U | IHd 9 ¥
TR T H o fod Sk e 3% 720,000
W §U | MR 1 9RO %3 % SR gg.atg §
IF T 10,000 H R S | Frafor o
2011-12 % AT 3wmes e ifge = & 0

at
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(a) Explain the tax planning provisions in
respect of infrastructure facility.

(b)y From

the following information compute

the tax payable by A & Co. keeping in view
the provisions of MAT w/s 115 JB for the
assessment year 2011-12 ¢

(1) Profit & Loss Account
Particulars T Particulars ¥
Expenses related| 7,20,000|Export sales u/s| 15,00,000
to export sales 10 A
Expenses related|16,00,000( Other sales 15,00,000
to other sales
Securities 3,000|LTCG 2,600,000
transaction  tax . (exempted u/s
paid refating to 10(38))
LTCG
Depreciation £,50,000 | Intere§ton Govt.| 25,000
Securities
Proposed 2,52,000 'Q,
dividend e
Income tax 1,00,000 b
Net Profit 4,00,000. [
32,250004 32,25,000
(2) The company revalued its assets from
< 3,00, to ¥ 6,00,000 and provided
deprc&:&tion on < 6,00,000 @ 25% of
the ,}%preciation allowable under the
income tax act is T 80,000.
3) %F loss of business as per books of
account ¥ 2,00,000.
(4) B/F depreciation as per books of
accounts ¥ 50,000.
(5) B/F unabsorbed depreciation
¥ 1,00,000. '
(6) The company received export

turnover u/s 10 A ¥ 15,00,000 in
India in convertible forcign exchange
with in prescribed time.

10



(H & 3T T Sy
- |fqEm ? $ .
P Bl & | 7,20,000 e 1048 |15,00,000
P SAE @,ﬁ -
<ZJ
a= R 6,00,000 | a1t
el @ 6,00, § 15,00,000
LTCG ¥ walfuw é“ﬁco e
gfergfer 29 &Y 10138 F st
ST fon e 434 ojgz & 2,00,000
T 130,000 | TRt gt
PECIECRIIE I 43,52 e 25,000
‘:k
- 1,00,000
fhae oy 4,00,000
32,25,000 32,25,000
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(F) il G & gfe § *T s gad
ST} i s i |

)

Frefefad et & smuw o A wE ar

B % &Y W, Fier ad 201112 & feo
115 JB & 3feid MAT &t sTaenai 5t v §

(2) % mqﬁmﬁa}w ERCIS e
F X 3,00,000 & T 6,00,000 X fear

3 2 6,00,000 9T 3t Rty %
ST TR gedwrE A T 80,000 4
IEH 25% R A gogerd F ATen

ol
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(a)

(b

8810

(3) wmafedi ¥ @R T 2,00,000 @
ST B S fopar T

(4) durai & oy T 50,000 %
WHETE i TG oA Ty |

(5) T 1,00,000 SFEviNG e i
EroinicRcmikicil

(6) it W Prife @ & et uRa |

yT 10 A % g faa fw 4
% 15,00,000 iR R el
el &C.J
ORIWHé)
Q

The business pr@f a firm after paying (i)
interest to pa@ers X T 1,60,000 and Y
% 2,00,000 athe prescribed rate ws 40(b)
and (ii) r%uneration to X ¥5.20,000 and to
Y 2 4_,@,000; ¥ 8,00,000. The firm is
entitl@to deduction from its gross total
income @ 100% of the profit of business
ws 80 IB. From the tax point of view
suggest o the firm whether the firm should

pay interest and remuneration to the
pariners or not.

. !
What is ‘bonus share’ ? How can a
sharcholder  reduce his, tax. liability
regarding benus shares ?
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(@),

(@)

(b)

9670 .

T ®H B FaEE § T 8,00,000 F @

ﬁm%‘@ﬁaﬁmm%amgw

(i) T 40(b) & siawa fafea =v @ wrier x
H T 1,60,000 3T Y B T 2,00,000
=1 fam ey |

(i) X ® T 520,000 3 Y Ht T 4,80,000
it fear mar |
w5 4RI 80 1B ¥ MER @agE o any
F100% H WA [ W T F Q
FATHET HT WHhA & | X Hl efie § wrt
® T AT e w & arieR @
== S It S anfew o 98 o

WWWW%QW%WWW

Vot ¥ Hafua ar W HH BT TEHAT

X NG

What are the faélprs to be considered while

making a leas®Sor buy decision ? When a

leasing be preferred over purchase ?

Mr. H has:eéteived offer from companies of
Delhi for @mccs as under :

A B
_% 4 4
e;&% ary 10,00,000 6,000,000
- 96,000
Travelling  expenses - 19,200
(For coming to office
from residence and
back)
Contribution to - 2,40,000
approved
superannuation fund
by the employer
- Mobile phone 44,800

10,00,000 10,00,000

- 9. ‘ P.T.O.
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(®)

Other Informations are :

(1) His qualifying saving u/s 80 C will be
7 50,000.

(2) He will pay house rent 6,500 p.m.

(3) He needs a mobile phone for private

purpose.
Which offer should he accept and why ?
@wﬁm@ﬁﬁmﬁﬁumﬁ%ﬁﬁﬂ
i T o i e AT 2 GiEs W e
o T S A e € 2
fret 1 ) Reech ) bl QSR el &
Rora Fraferfiarm e e 1 HA
LA B
Dz q
et A 30,00,000  6,00,000
e fepan s %{@ - 96,000 _
I T X - 19,200
(% R TR A
Ry <
Prefern & TR
arfirat e Amer ~ 2,40,000
TaTee B - 44,800
10,00,000 10,00,000
(1) uw 80 C & ¥imiq IWH e a9
Z 50,000 &P |

(2) a2 T 6,500 ufel TTE WY %7 R A
3) =@ Pt o % o aERs W &
AT & | .
e 33 R e ) e F A ST
Coll
' OR/ava

10
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(a) From the following information determine
whether the assessee should purchase an
asset or take on lease :

9610

1.

2.
3.
4

o

8.

Cost of Asset T 2,00,000
Rate of Interest 10%
Rate of Depreciation 15%

Repayment of loan by the assessee
< 40,000 p.a.

Rate of tax 30.9%

Residual value ¥ 40,000 after five
years

Profit of the assessee §2 ,00,000 before
depreciation, interestyand tax / before
lease rent and tax O

Lease rent T 60 @'0 p.a. 10

(b) Write a note on slu§sale. 5
) Prefie genale fifa it fr Seife
& i X m‘ﬁ{ﬂﬁﬂ%@:

l.

AW

Lh

8.

&t @ € 2,00,000
RC10%
7T 15%
%ﬁhﬁmmﬁamﬁ% 40,000 ufq

T T 30.9%
U &Y AR SN 794 T 40,000

Fraiftett 1 goagm, =t ot #/ @
fetra 3t 95T @ g w1 2 2,00,000

vzt feman 7 60,000 wi a9

(@) TRt fant ot feomht T

1 P.T.O.
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(a)

(b)

()

@)

A owns a block of Assets (consisting of
plants X and Y and depreciation rate 15%).
On 1% April, 2010, WDV of block of Assets
is T 20,80,000. On 7" July, 2010, block of
assets is transferred to B by A in a scheme
of amalgamation for ¥ 61,40,000. Find out

- tax consequences in the following 2 cases.

—  Ais an amalgamating company and B
is an Indian amalgamated company
and the block of assets is transferred
by A to B i scheme of
amalgamation. B does‘not own any
other asset. :

- B is a foreign compapy (assume in
the aforesaid case) g

What is advance ruling™? Discuss the

procedure to be followeéﬁy the Authority

for Advance Ruling whei an application is

ficld before it. .

A il % wg sy & (T X it

Y @a 3 T 15% ) 11 e

2010 W TR F g WgE ® WDV

2 20,80,000 g:fv S 2010 F 37 oferafa

® A A BYH TAHEA AT & dEd

= Wome F & 3 B UF YRdE
HHHEH ® A & YW T A § B W
Aaa WM T E 0B & U FR I3
it &l ¥ o
— B U fauel O (ST H H AR g) |
3ty fafrolr = gien & ¢ afusr) g0 AR
T el uEm @ fadgw #ifar W| HE
AT S TR AT ST §
OR/agat

12
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(a)
(b)

)
(%)

Explain the meanmg of ‘Arm s Length
Price.”

Mr. A is resident in India. The following -

points are noted for the previous year
2010-11 from the books of acGount :

Income from business in India () 4,00,000
Income {rom business in 10,00,000
couniry X

(India does not have DTA

agreement with country X)

Income from other sources in 40,000
India

(Interest on Govt. Securitiey)

PPF contribution Q 80,000
Tax levied in country % 1,80,000

Compute the ambunt of Income Tax

payable in India{or the assessment year
2011-12.

HIUT Fi T el JHETY |
fireet A, H aard § | I9F @ @
froet ad 2070-11 & foau Fefafaa @i 5
:ﬁzﬁﬁm
(~) 4,00,000
aﬁ ECRC %?r et 10,00,000
(X X % WY YA w7 DTA

I TR 8)

e ¥ 3= A § e 40,000
(weE sfavferat W)

PP ® arRH 80,000
X &9 o Y 1,80,000
Preiror & 201112 & Fotw W 2 ot
=t e 1 Ao ifar |

10

13 P.T.O.
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5. (a) Briefly explain the provisions of section:
91 of Income Tax Act relating to avoidance
of double taxation. 5

(b) A Ltd. a company engaged in manufacture
of electrical switches is a widely held
company. It is considering a major
expansion of its production facility and
import of latest technology which is
expected to improve its profitability from
the present rate of 20%.to at least 25%
(before tax). The finance manager has given

the following proposals :
'& (% in lakh)
©)
éy B C D
Share capital (equity) @80 40 60 100
Q

14% Pref. shares 40 40 - 20

3
16% non-convertibdle,

debenture e - 40 - = R0
Term | fi ’$

erm loans fr

institutions Séanks

%) - 80 140 -
Lease ﬁn%ce (22%) 80 - - -

200 200 200 200 10

(I} The rate of dividend on equity has not
been below 24% in the past.

(2) The tax rate faced by the company is
33.99%. Your opinion with detailed
reasons is sought on the above.

9610 : 14
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(F) e TR W T F o sy sfufrn @
urT 91 H & 7% s ® ddv § smen
T |

(@ A el T sl faoe & el % Bt
Heri gd & | 7 o e telt gf S ¥
T F A IR glewr ¥ 9 o wr
foer 3 et eyttt w1 e

FH W fTar &2 @ & fad 3w anrerfaear
AU T 20% /@ TF H T B 25%
@ @) #F F oamn & PELE
Frefates yeme R # QO
& @ et )
é’u A B C D
ﬁmﬁ@%§ 80 40 60 100
14% d16 40 -
aﬁ:}gﬁﬁm 40 20
. 16% dTet
oy 5 -~ 4 - 80
Hrrmaf A d1 |
STTafh 1 (20%) -~ 80 140 -
g 0T [ (22%) 80 - - -

200 200 200 200

(1) st av o T fam § 24% @ AR
T @

(2) O F B 33.99% H FHAT FE

TE | 3T o W et 1, Favga wy
EESTU R G : LIR

OR/3rerar

9610 15 P.T.C,



www.FirstRanker.com

(a) Discuss the tax implications in case of
conversion of a private Ltd company or an
unlisted public company into a Limited
Liability Partnership (LLLP). ' 8

(b} Discuss the main points of tax planning in
respect of employee’s remuneration. 7

@ UF W fefies &l amEr uw g
AR St @ difve ofae wiERE (LLP)
A g5 & & 9l &l faaea S

(@) mﬁﬁmﬁﬁm%@aﬁé&mm%g@

ML

N
&
S
&
SS
a
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